Math 10 

1.3 The Sum of an Arithmetic Series (HW p.20)

1.3 The Sum of an Arithmetic Series (p.17)

Goals:
( Determine an expression to represent the sum of an arithmetic series


( Be able to use this expression to solve problems
( Go through example on p.17

a = first term

d = common difference

tn = the nth term

Sn = the sum of the first n terms

Given the arithmetic sequence 1, 3, 5, 7, 9

t5 = 9

S5 = 1 + 3 + 5 + 7 + 9 = 25

(Note: series refers to the sum of a sequence)

To determine the sum of the first n terms of an arithmetic sequence we can use the formula:
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      = (mean of first and last terms) ( (number of terms)

( Go through examples 1, 2 (p.19)

ex. Determine the sum of the first 40 terms of the arithmetic series 1.5 + 3.5 + 5.5 + …
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( We know a and n, we need to solve for tn.


       tn
= a + (n – 1)d


      t40 
= 1.5 + (40 – 1)2



= 1.5 + 39(2)



= 79.5
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= 1620

( the sum of the first 40 terms is 1620.

ex. Determine the sum of the arithmetic series  15 + 18 + 21 + … + 45.
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( We know a and tn, we need to solve for n.

       tn
= a + (n – 1)d

      45
= 15 + (n – 1)3

 
      45
= 15 + 3n – 3

 
      45
= 3n + 12

 
      3n
= 33

 
        n
= 11
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= 330


( the sum of the series is 330.


HW p.20


#1, 2 (a, b)


#3 (a)(i, vi)


#5, 7


#12 (a, b)(iv)


#13
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